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Complete each family of facts.
1. 2. 40 3. 50
10 10
4 | x | 7| =128 4 10| = |40 9 10 =190
71 x |4 =128 10 4 | =140 10 91 =190
28| = |4 | = |7 40 4 1 =110 90 91| =110
28| = |7 | =|4 40 10 =1 4 90 101 =129
4 00 5 48 6.
10 9 8
10| x| 9] =190 6 8 | = |48 6 71 = (42
9| x [10] = |90 8 6 | = |48 7 6 | = |42
|+ (10| =19 48 6| =18 42 6| =17
| =+|19] =110 48 8| =16 42 71=16
7 8 9.
8| x| 3| =124 2 51 =110 7 3| =121
3| x| 8] =124 5 2| =110 3 71 =121
24| = | 8| =3 10 2|1 =15 21 71=13
24| = | 3| =] 8 10 51 =12 21 31 =17
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